' GROUP 3 ELECTRIC SYSTEM

ELECTRIC COMPONENTS MOUNTING 1

N

DETAIL B

Rear work lamp

Rear view camera

Fuel filler
pump

\\
\xgsoggcmos
Tightening torque
[tem Size kgf - m Ibf - ft [tem Size kgf - m Ibf - ft
1 | M6x1.0 1.05+0.2 7.6+1.45 3 | M10x1.5 6.9+1.4 49.94+10.1
2 | M8x1.25 25+0.5 18.1+£3.6 4 | M12x1.75 | 12.8+£3.0 92.6+21.7

9-4



ELECTRIC COMPONENTS MOUNTING 2

VIEW A

Electric box
A

Fuse box

Wiper motor

DC-DC converter

o Control unit
DETAIL B - : -Handsfree
Control unit
-Remote
43099CM04
- Tightening torque
ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 M6x1.0 1.05+0.2 7.6+1.45 3 M10x1.5 69+14 49.9+10.1
2 M 8x1.25 25+0.5 18.1+3.6 - - -






